

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 3, 2024

Progress Estimate Number	Contract ID	240216-C03	Pay Period Start	August 16, 2024	Original Contract Amount	\$3,766,545.05
3	Prime Contractor	Capital Paving & Construction, LLC	Pay Period End	September 1, 2024	Net Change Order Amount Current Contract Amount	(\$363,972.74) \$3,402,572.31

September 3, Generated and Approved (and should be considered Draft) at the Project Office Level by 2024	laymar
September 3, Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by 2024	ilesb1
September 4, Reviewed and Approved at the Central Office Controllers Office Level by 2024	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2024	November 1, 2024		18.18%

	Milestones						
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract				
Acceptance Date							
Awarded Date	March 6, 2024	March 6, 2024					
Letting Date	February 16, 2024	February 16, 2024					
Notice to Proceed Date	April 8, 2024	April 8, 2024					
Open to Traffic Date							
Work Began Date							

Contract Total Pay For Estimate No. 3										
		This Estimate	Previous	To Date						
240216-C03										
	Total Posted Items Pay	\$221,303.83	\$397,367.33	\$618,671.16						
	Gross Item Adjustments	(\$943.97)	(\$830.92)	(\$1,774.89)						
	Incentive	\$0.00	\$0.00	\$0.00						
	Disincentive	\$0.00	\$0.00	\$0.00						
	Liquidated Damage	\$0.00	\$0.00	\$0.00						
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00						
	•		\$396,536.41	\$616,896.27						
Contract Total Paya	ble This Estimate:	\$220,359.86								

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JKR0084	0150	6161025	CHANNELIZER (TRIM LINE)	EA	\$16.000	100	\$1,600.00
	0170	6181000	MOBILIZATION	LS	\$200,000.000	0.2	\$40,000.00
	5001	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	TONS	\$215.960	249	\$53,774.04
	5002	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	SQYD	\$152.820	824.04	\$125,929.79
Project Jk	(R0084 - T	otal					\$221,303.83
Overall - 1	Total						\$221,303.83

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item /	Adjustn	nents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JKR0084	0140	CONSTRUCTION SIGNS	Material			-1,614	\$7.35	(\$11,862.90)
	0140	CONSTRUCTION SIGNS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user laymar overridding Payment Estimate Exception 1 on	1,614	\$7.35	\$11,862.90

Revision 3/23/2023 Page 1 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 3, 2024

Progress Estimate Number 3
Contract ID 240216-C03 Pay Period Start August 16, 2024 Original Contract Amount \$3,766,545.05
Prime Contractor LLC Pay Period End September 1, Pay Period End September 1, Current Contract Amount \$3,402,572.31

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JKR0084					the current Payment Estimate.			
	0150	CHANNELIZER (TRIM LINE)	Material			-100	\$16.00	(\$1,600.00)
	0150	CHANNELIZER (TRIM LINE)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user laymar overridding Payment Estimate Exception 2 on the current Payment Estimate.	100	\$16.00	\$1,600.00
	0160	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material			-2	\$3,200.00	(\$6,400.00)
	0160	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user laymar overridding Payment Estimate Exception 3 on the current Payment Estimate.	2	\$3,200.00	\$6,400.00
	5001	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR		Asphalt Cement Price Adjustment	AC Adjustment Line no. 5001 installed Quantity 506.16 (tons) @ 3.7% (Virgin) x -47.5 (diff) = - \$889.58 (BP1 24-51) 30.95 (tons) @ 3.7% (Virgin) x -47.5 (diff) = - \$54.39 (BP1 24-18 0			(\$943.97)

Revision 3/23/2023 Page 2 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information												
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work							
JKR0084	FAF-13-3 (91)	Coldmill, resurface, and pavement repair	13	JOHNSON	from Route Y to the Her	nry County Line near Leet	on						
otals by J	Job Number	rs											
JKR0084					This Estimate	Previous	To Date						
		Posted Item Pay Gross Item Adjustments Gross Item Pay			\$221,303.83 (\$943.97) \$220,359.86	\$397,367.33 (\$830.92) \$396,536.41	\$618,671.16 (\$1,774.89) \$616,896.27						
	Incent	ivo	0.000			•	• •						
	Disinc				\$0.00 \$0.00 \$0.00 \$0.00 \$0.00								
		ated Damages			\$0.00 \$0.00								
	Other	Contract Adjus	stments		\$0.00	\$0.00	\$0.00						

Revision 3/23/2023 Page 3 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JKR0084, Item 6161005, Project Item Line Number 0140, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	NEED TO ENTER CERTS	laymar	Overridden
Estimate Exception Type: Insufficient Materials: Project JKR0084, Item 6161025, Project Item Line Number 0150, Material Set 616102596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	NEED TO ENTER CERTS	laymar	Overridden
Estimate Exception Type: Insufficient Materials: Project JKR0084, Item 6161098A, Project Item Line Number 0160, Material Set 6161098A96, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	NEED TO ENTER CERTS	laymar	Overridden

Revision 3/23/2023 Page 4 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
216-C03	JKR0084	0001	0010	2071000	LINEAR GRADING CLASS 1	0.70	0.00	0.70	STA	0.00	\$5,000.00	\$0.0
		0001	0020	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	4,243.00	0.00	4,243.00	TONS	0.00	\$15.00	\$0.0
		0001	0030	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	21,616.70	0.00	21,616.70	TONS	0.00	\$99.00	\$0.0
		0001	0040	4013000	BITUMINOUS PAVEMENT MIXTURE PG64-22 (BASE)	10.50	0.00	10.50	TONS	0.00	\$95.00	\$0.0
		0001	0050	4071005	TACK COAT	19,492.00	0.00	19,492.00	GAL	0.00	\$2.75	\$0.0
		0001	0060	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$2,500.00	\$0.0
		0001	0070	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	2,288.00	-2,288.00	0.00	SQYD	0.00	\$275.00	\$0.0
		0001	0080	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	286.00	-286.00	0.00	SQYD	0.00	\$5.00	\$0.0
		0001	0090	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK) (PAVEMENT REPAIR)	286.00	-286.00	0.00	SQYD	0.00	\$10.00	\$0.0
		0001	0100	6131014	FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER AND INTERNAL SAW CUTS)	8,604.00	-8,604.00	0.00	LF	0.00	\$5.00	\$0.0
		0001	0110	6131015	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	6,292.00	-6,292.00	0.00	EA	0.00	\$5.00	\$0.0
		0001	0120	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	129.50	-129.50	0.00	TONS	0.00	\$300.00	\$0.0
		0001	0130	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	381.70	-381.70	0.00	SQYD	0.00	\$330.00	\$0.0
		0001	0140	6161005	CONSTRUCTION SIGNS	1,614.00	0.00	1,614.00	SQFT	1,614.00	\$7.35	\$11,862.9
		0001	0150	6161025	CHANNELIZER (TRIM LINE)	323.00	0.00	323.00	EA	100.00	\$16.00	\$1,600.0
		0001	0160	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,200.00	\$6,400.0
		0001	0170	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.45	\$200,000.00	\$90,000.0
		0001	0180	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	555.00	0.00	555.00	LF	0.00	\$3.70	\$0.0
		0001	0190	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	76.00	0.00	76.00	LF	0.00	\$21.00	\$0.0
		0001	0200	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	4.00	0.00	4.00	EA	0.00	\$210.00	\$0.0
		0001	0210	6200036	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 30 IN WHITE MIDBLOCK	5.00	0.00	5.00	EA	0.00	\$200.00	\$0.0
		0001	0220	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	95,145.00	0.00	95,145.00	LF	0.00	\$0.24	\$0.0
		0001	0230	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	107,850.00	0.00	107,850.00	LF	0.00	\$0.26	\$0.0
		0001	0240	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	194,714.00	0.00	194,714.00	SQYD	0.00	\$1.75	\$0.0
		0001	0250	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	852.10	0.00	852.10	STA	0.00	\$4.00	\$0.0
		0001	0260	6261001	BITUMINOUS CENTERLINE RUMBLE STRIP	529.20	0.00	529.20	STA	0.00	\$5.69	\$0.0
		0001	5001	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	0.00	749.00	749.00	TONS	749.00	\$215.96	\$161,754.0
		0001	5002	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	0.00	2,271.00	2,271.00	SQYD	2,271.00	\$152.82	\$347,054.2
	Project J	(R0084 - T	otal Value	Posted to D	Date as of Report Generated Date							\$618,671.1
6-C03 Ove	rall - Total	Value Post	ed to Dat	e as of Repo	ort Generated Date							\$618,671.1

Page 5 of 9 Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Si	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0150	6161025	CHANNELIZER (TRIM LINE)	8/30/24	9/3/24	100.00	EA		1		1		
0170	6181000	MOBILIZATION	8/30/24	9/3/24	0.20	LS		1		1		
5001	6133020	FURN & PLACE BIT. MATL FOR CL C PARTIAL	8/30/24	9/3/24	249.00	TONS		1		1		
5002	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVT REPAIR	8/30/24	9/3/24	824.04	SQYD		1		1		

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023 Page 6 of 9



Line Item Adjustments by Estimate

Contract ID: 240216-C03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JKR0084	0140	CONSTRUCTION SIGNS	Material		1	Aug 2, 2024	SYSTEM	\$11,862.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user laymar overridding Payment Estimate Exception 1 on the current Payment Estimate.
					1	Aug 2, 2024	SYSTEM	(\$11,862.90)	
					2	Aug 16, 2024	SYSTEM	\$11,862.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user laymar overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	Aug 16, 2024	SYSTEM	(\$11,862.90)	
					3	Sep 3, 2024	SYSTEM	\$11,862.90	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user laymar overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Sep 3, 2024	SYSTEM	(\$11,862.90)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0140 -	Total						\$0.00	
	0150	CHANNELIZER (TRIM LINE)	Material		3	Sep 3, 2024	SYSTEM	\$1,600.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user laymar overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	Sep 3, 2024	SYSTEM	(\$1,600.00)	
				- Total				\$0.00	
			Material - To	Material - Total				\$0.00	
	0150 -	Total						\$0.00	
	0160	CMS W/O COMMUNICATION INTERFACE, CONT F/	Material		1	Aug 2, 2024	SYSTEM	\$6,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user laymar overridding Payment Estimate Exception 2 on the current Payment Estimate.
					1	Aug 2, 2024	SYSTEM	(\$6,400.00)	
					2	Aug 16, 2024	SYSTEM	\$6,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user laymar overridding Payment Estimate Exception 2 on the current Payment Estimate.
					2	Aug 16, 2024	SYSTEM	(\$6,400.00)	
					3	Sep 3, 2024	SYSTEM	\$6,400.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user laymar overridding Payment Estimate Exception 3 on the current Payment Estimate.
					3	Sep 3, 2024	SYSTEM	(\$6,400.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0160 -	Total						\$0.00	
	5001	FURN & PLACE BIT. MATL FOR CL C PARTIAL		ACAD	1	Aug 2, 2024	laymar	(\$55.20)	AC Index = 56.83 tons X 3.7% X-26.25 = -55.20
					2	Aug 16, 2024	jamesc2	(\$59.08)	An additional 4 tons are paid on Estimate 0002 but was laid in second period of July. This is Correcting AC Adjustment from Estimate 0001 to include the additional 4 tons Index Difference (%Ton) x Installed Quantity (Tons) x Virgin AC% -26.25 x 60.83 x 3.7% = -59.08
					2	Aug 16, 2024	jamesc2	\$55.20	Correcting tonnage from second period of July Estimate 0001. Correct tonnage and AC on estimate 0002
					2	Aug 16, 2024	laymar	(\$771.84)	Index Difference (\$/Ton) x Installed Quantity (Tons) x Virgin AC% -47.50 x 439.17 x 3.7% = -771.84
					3	Sep 3, 2024	laymar	(\$943.97)	AC Adjustment Line no. 5001 installed Quantity
									506.16 (tons) @ 3.7% (Virgin) x -47.5 (diff) = -\$889.58 (BP1 24-51)
									30.95 (tons) @ 3.7% (Virgin) x -47.5 (diff) = -\$54.39 (BP1 24-18 0
				ACAD - Tota	al			(\$1,774.89)	
			Other Item	Adjustment -	Total			(\$1,774.89)	

Sep 5, 2024



Line Item Adjustments by Estimate

Contract ID: 240216-C03

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JKR0084	5001 -	Total						(\$1,774.89)	
JKR0084	- Total							(\$1,774.89)	
Overall -	Total						(\$1,774.89)		

MoDOT

Contract Adjustments for Contract - 240216-C03

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 9 of 9